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Q I. Plants adapted to low light intensity have "11.1 q;l! <ful ~ <); ~ 61j'ffctct -qlm -q 

Q2. 

Q3. 

Q4. 

Q5. 

I) Larger photosynthetic unit size than 
the sun plants 

2) Higher rate of CO, fixation than the 
sun plants 

3) More extended root system 
4) Leaves modified into spines 

Forced deep breathing for a few minutes 
by a person sitting at rest may be followed 
by a temporary cessation of breathing. This 

is due to 

I) Too much oxygen in blood 
2) Too much carbon dioxide in blood 
3) Both, too much oxygen and very little 

carbon dioxide in blood 

4) Very little carbon dioxide in blood 

Suggest which among the following is not a 
function attributed to endoplasmic 
reticulum 
I) Detoxification of poisons and drugs 
2) Digestion/ejection of foreign 

materials outside the cell 
3) Manufactureoffatand lipid molecules 
4) Biogenesis of membranes 

In a Mendelian experiment tall pca plant 
bearing violet flowers was crossed with 
short pea plants bearing white flower. All the 
progeny had violet f10\\~". but almost h,1i r 
of them were short in h~ight. The g~netic 
make-up ofthe tall parcnlS can be dcpi(tl:d 
as 
I) TTW W 
3) T t W W 

2)TTww 
4)Tt W w 

Some organisms arc ,~nsitive to diflCr~J1l 
levels of air pollution and are lIsed as 

pollution indicators. Suggest \I hich among 
the following fits into this category 

I) FWlgi 2) Fresh \Vater Algae 

3) Bacteria 4) Lichens 

1 ) a:mrq 'lR'I q;'t WRT -q ~ ~ 
fi~8'Ni ~ Qttt '& I 

2) 31f(fq ~ 'f>T ~('f"'!l ~. 'f>T'l1 

~ilfliR1l{sfulRur~~~m'&l 
3) 31f~ f<ffir! ~ ~ Qttt '& I 
4 ) ~ 'Ii1'if -q ~q i <1 fl:ct moT ~ I 

"11.2 3lfUI'I it ~ SlI. ~ &m OJ <.'I 'i cl'h "'Wit 
<!fu ~ <); 6'RRI ~ ~ <); ~ ~ 
tffi:I ~ il'R '1{ ~ ~ '& I ~ <fiRUT '& 

1) ~ -q 31Tiffi,Oj1 ~ ~~ lfP.n 'iii mr 
2 ) ~ -q 'Ii1<f1 ~3lT<m I{ s q;'t 31<'If~ 

lfP.n'lilmr 
3) ,q<j~' 31f~ 'Ii1 ~<1 31fl:r'f> 3#, 
~ ~31TiR1I{S 'iii ~ q;l! mr 

4 ) ~ -q 'Ii1<f1 ~ 31 TiR11 {s q;'t lfP.n ~ q;l! 

mr 
B f1"1fctf!9ct -q it 'f>'t1-m ~ 3RI:<:O!it 

OJ ifct'h I 'iii "lfSI;lf m '& ? 
1) ~t«;Tmv;q'~'Ii1 f1(lfClM'h(UI 

2) ~<);~fClOjlfuqt«;Tm'li1~ 

3 ) CffiT v;q' fum <); 311!l3TI 'iii 0R11 

4) 'h'if~I'h1 WR'ft 'iii ~-"H'I 
"11.4 iIsftoR <); wWT -q 1l:'I' ~ 'lZ( <); -qltt, 

mii ~ 'Ji('f 311il t 'iii ~, 1l:'I' 
.m 11c{ ~ -qltt f;m1l ~ 'fiC'I 31ffi t <); 

<!l~ fT>n lJ<ri I ~ "'{it ~ -q ~ 
'Ji('f ~ ~ ('fll'ljT] 3l1tt -qltt .m 'f>G: <); 

ilt wit 'f>G: in1lT<11-fl«n 'iii 31ljijif.ll'h ~ 
'I'rI WIT? 
1) lTWW 2)TTww 

3) TtWW 4) TtWw 

"11.5 ~;;jtq ~ ~ <); M'lR «1U in"l!fu 
\i1l1~n<.'l ~ t ~ ~ ~ <); il'R '1{ 

;r:IT1j f.f;-qJ "l1<1T '& I f1"1fctf&ct -q it 'f>'t1-<!l 
~ ~ -q 3l1<11 '& ? 
1) ~ 2)3ffiC!UI 0f<.'I ~ 
3) ~ 4) 'Ii!"{ 



-
Q6. Which of the following statements are true qf«ltifl ~ <tc::\f fi W1 fi B 'fiR-B q;~ "11.6 

about the brain .m~? 
The main thinking part of brain is hind q f«l tifl q;] m<R "i'ffffi ~ 'I1T'1 

brain q~ilqf«ltifl ~ I 

II Centres of hearing ,smell, memory, II wR, ~, ~ v:ci ~ q;] ~ 

sight etc. are located in fore brain 3lUqf('{1tifl fi W«I m t I 

III Involuntary actions like salvation. III 3l~fiijq; ~ m1 "ffR 3lRT, WR, 

vomiting, blood pressure are controlled ~ :mR q~il4f('{1 tifl fi W«I ~ 

by the medulla in the hind brain bTU RllT\l,1Q1<IT t I 

IV Cerebellum does not control posture IV mn: q;] ~ v:ci ~ <>ij4f«lti'll 

and balance of the body. 
~ bTU f.r:if-;;ro -,m mm I 

1) I, II, III 2) I, Ill, IV 1) I, 11,111 2) I, Ill, IV 

3) II, III 4) Ill, IV 3) II, III 4) Ill, IV 

Q7 . Which one of the following statements is "11.7 f1"1f<:1flJlij fi B 'fiR-m ~ .m -,m ~? 
not correct I) Wl4'li'I<n{I~~ ~m~t 
I) In the animal of phylum porifera called fi ~ ~ "II'iI'f'I (~ bTU) 

sponges, the reproduction is only ~~I 
asexual (through budding) ~:;h.Jj02:1 q,'t ~ "lI'fiTU fi ~fl'i:rrr 

2) Many forms of coelenterate possess a 
2) 

hard exoskeleton of lime to form 
-...rR ~ ~ q;] <1f~4>q;It1 men ~ I 

corals 3) Wl Q:,\fM~~, ~~, ~ 

3) Animals of phylum annelida occur in -qrft "'" ~ fi ~ olTH I 
moist soil,fresh water and sea 4) ~ ~ 40fw:n fi ~ 3lii1ft<!i 

4) In cartilaginous fish, fertilization is men~1 
internal 

Q8. Ifkidney fails to reabsorb water then the "11.8 <m::'f!'I'0R'!q;] 9>1<q~n~UI ~fi ~ 

tissues would 
~ <it ~ 'R q>:jj "II"1fCI m ? 

I) remain unaffected 
1) 3l"lI\fIfc!i1 WT I 

2) absorb water from the blood 
2) "(q(\ fi B OR'! <>iq~nf\tij q;'{it I 

3) take more oxygen from the blood 
3) \<Ii1-q B 3TI!f<!;lIDII-q ~ wur 'fiti\ I 
4) ~q;{'1WI~1 

4) shrink to shrivel 
Q9. Exact location oftri.:uspid valve is between "11.9 f~q;q<l C(\~ q,'t.m ~ q>:jj ~? 

I) left auricle and left ventricle 1) ~ 3~ v:ci ~ f.Iw:I ~ <itiI 

2) left auricle and right auricle 2) ~ ~ v:ci ~ ~ ~ <itiI 

3) left ventricle and right ventricle 
3) ~ f.Iw:I v:ci ~ f.Iw:I ~ <itiI 

4) right auricle and right ventricle 
4) ~ ~ v:ci ~ f.Iw:I ~ <itiI 

2 



Q I O. Nasal tracts is lined by '\l.10 

I) Simple columnar epithelium 

2) stratifiedcolumnarepithelium 

3) pseudostratified epithelium 

4) stratified cuboidal epithelum 
Q II. If you are asked to classify the various 

algae into distinct groups, which of the 
following characters you should choose ? 
I) Nature of stored food materials in the 

cell 
2) Type of pigments present in the cell 
3) Chemical composition of the cell wall 
4) Structural organisation of thallus 

Q 12. Flatworms have three tissue layers and an 
incomplete digestive system. They are 
called 
I) Pseudoacoelomates 
2) Acoelomates 
3) Pseudocoelol11ates 
4) Coelomatcs 

Q 13. Minamata disease is due to 
I) MIC Gas 
2) Methyl Mercwy 
3) Lead nitrate 
4) Cobalt Chloride 

'\l.11 

'\l.12 

'\l.13 

Q 14. Leaves of healthy poned plant are coated '\l.14 

with Vaseline.!t \~illiead to 

I) Low respiration 

2) No photosynthesis 

3) No transpi ration 

4) All of the above 

Q 15. The element with atomic no. 117 would be '\l.l
S 

placed in 

I) Noble gas family 

2) Alkali family 

3) Lanthanide family 

4) Halogen family 

3 

~ '121 'liT 31'ffiIfuI ~ Cffi'iT ~ 
1) mR W'Wf>R ~~13q<li('11 
2) «1ft! W'Wf>R ~~13q<li('11 

3) >RI «1ft! ~~13q<li('11 
4) «1ft! ~ ~.nf<.'1'l41 3q<li('11 

"'l'R 311'l'lit fcif'R ~ 'liT 31WT-31WT 

~if~~'liT~~ <iT 3m 

f.r:;j if~ ~ ~ ~') ~ IlJ1IT 'j .,. I • 

1) 'h'I~I<li1 if ~ l:<ml 'lCJ~ '<IiI 'Il'<IiI1: 

2) 'h'I~I<li1 if ~ qufq; ~ 3!T"ffi 'l\ 

3) 'h'if~I<li1 f'lfu 'liT (H'lI'lf1'1i 'ffi<RT 
4) m '<IiI \i ('q 11<"4 <Ii WTo-l 
"tf<!'l ~ if (fA ~ m am 3l'r'i 
~ <fi! m<rr t 1 ~ ll<IT ~ 0fRIT t ? 
1 ) '«"ll ctl iJ i! - ~::!'I'l;;ftq 
2 ) \i.sl '«"ll <.-M i! >RI ~ ::!'I'l ;;ftq 

3) \i.slmctliJi! - >RI~~;;ftq 
4) m<."1liJi! - ~~;;ftq 
f'"l1141 d 1 Wr '<IiI '<IiI<"l 

1) fll$ ->1I~*1'1t11'l~i! T)'(1 

2) fll$~ 

3) ~~ 
4 ) <hi <41 R "'ifu",'tTl (lri~'2's 

BW! 'tilt) ~ 'l'ffi ~ '3i'R ~ 'liT 'l\d 

~ omit h<4'<1~ ll<IT ij)7rr ? 

1) *~ 
2) ~ 'lI'Iiro (l'~t1~OI -m 
3 ) ~ '*41 r\F;f1 -m 
4) ~~.n 

'Q:m (f(q ~ ~ '\'f&:n 117 m, C{Q 

(i' <II "I <IidI '\1RUit if f.r:;j if ~ fq;{:J ¥'I if 
W«! ij)7rr ? 

1) ~ T)'(1 ~I¥'f 
2) l!;c1<1i<.'fl ~I¥'f 
3) ~~I¥'f 
4) ~~I¥'f 



Q 16. If a gas expand, at constant temperature it 
indicates that 

"II. 16 ~ <!iW il<! WlR 0flil1R '" fcl<RuT ~ <i\ 
1 ) ~ '1ftr;;f "3'iIl ~ omit 't I 

I) K.E. decreases 
2) Pressure increases 
3) K.E. remains same 
4) No. of molecules of gas increase 

2) il<! ~ ~ omrr't I 
3) '1ftr;;f"3'ill WlR W<ft 't I 
4) il<! ~ ~an i1i1 <i&:rr ~ 't I 

Q17. What mass of oxygen gas is required to 
react completely with 5g ofH, gas to form 

wat~r (H,O)? 
I) 20 g 

"11.17 Sg ~IH'I"I1 ~ m~ f.mR"!ITI1 iiiTiffil"l1 il<! 
i1i1 31f'lftf;<:rr ~ Offi (H P) 'liI f.mfur m ? 

3) 40 g 
2) 30 g 
4) 50.5 g 

1) 20 g 2) 30 g 
3) 40g 4) SO.Sg 

Q 18. Correct acidic order is 

I) HI> HBr > HC{ 
"11.18 . .m ~ SI1'l~? 

2) HCI= HBr > HI 

3) HC{ > HBr> HI 

4)fIl>HBr=HC{ 

Q 19. The colour of NO, & PbO formed when "11.19 

lead nitrate is heated 

I) Brown and green 

2) Brown and yellow 

3) Brown and colourless 

4) Colourless and yellow 

Q20. Ifcopper is kept in open air it slowly loses "11.20 

its shining brown surface and gains a green 

coating. It is due to the formation of 

I) CuSO, 

3) Cu(NO,), 

2) CuCO, 

4)CuO 

Q21. Whenamixtureofironoxideandaluminiwll "11.21 

powder is heated intense heat is generated 

This fact is made use of in which of the 

following? 

I) Soldering 

2) Wcldingofsteel 

3) Making iron 

4) Cutting of metals 

4 

1) III > HBr > HC{ 

2) HC{=HBr > HI 

3) HC{ > HBr > HI 

4) HI > HBr = HCI 

~ ~ i1i1 Tfl'i q;0 '" "3«Fl 11~?1 "11 

3~v;ci~ ~q>T'l'lI~~'t? 
1) 'iU~"QU 
2 ) 'i.U ~ 1jffiJ 

3) 'iU ~-MfR 
4) -MfR ~ 1jffiJ 

~ 'li'i"R (il'Ta) q,l wit ~ if WI ~ <i\ 1 

~~~~trri1i1~~-~~ 
m omfr % o?n nl '" ~ trr i1i11:ffi1 ~ "IT<it 
't I f.ri:1 if ~ f<!i<I <itf1l'Ii 'liI <H1T ~<I'flT 
'f;RUj 't ? 
1) CuSO, 2) CuCO) 

3) Cu(NO,), 4) CuO 
~ <;<§4F1'14 ~ q 3WR1 3lTql.:n{5-

~ fi:! ~ q,l Tfl'i f<Ii<:rr omrr 't <i\ <ffiI "3>64T 

ai'\lF->fi1 mill i I nl o~ 'liI "II<WT f.ri:1 if ~ 
~ f<Ii<:rr omrr 't ? 
1 ) ~ i1i1 &<IT if 
2) ~if 
3) ~ f.mfur if 
4) muan q,l ~ if 



Q22. Which is the most stable? 

" 2) CH,-CH - CH, 

" 3) C H, 
e 

4) CH , -C;-CfI, 

CH) 

Q23. IUPAC nameofcompound 

H 

H 

C 

H 

H 

I) 2-Chloro 3-bromo butane 
2) 2-Bromo 3-chloro butane 
3) 3-Chloro 2-bromo butane 
4) 3-Bromo 2-chloro butane 

Q24. A mi:-.111re of sulphur and carbondisulphide is: 
I) Hetrogeneous and shows Tyndall effect 
2) Homogeneous and shows Tyndall effect 
3) Hetrogeneolls aAd does not shows Tyndall 

effect 
4) Homogeneous and docs not shows Tyndall 

effect 

Q25. Which ofthc following arc exothermic 
processes? 
I) Reaction of water with quick lime 
II) Dilution of an acid 
III) Evaporation of water 
IV) Sublimation of camphor 

1)1,IV 2)11,111 3) 1,11 4) II,IV 

Q26. Which ofthe following weighs highest? 
I) 0.5 moles of sucrose C" H" O" 
2) 2 moles of CO, 
3) 1.5 moles ofCaCO, 
4) 5 moles ofH,O 

5 

e 
1) H,C-C H, 

e 
2) CH, - C H -CH, 

e 
3) C H, 

'" 4) CH)-C;-CH) 

CH) 

"11.23 f.p:;{ ~ q;J I UPAC 114ih{OI <R I 

~ C{ ~r ~ 
H- C- C - C- C- H 

~ ~ ~ ~ 
1) 2- 'R'i'tU 3- m ~ 

2) 2-m 3-'R'i'tU~ 

3) 3-'R'i'tU 2 -m~ 

4) 3-m2-'R'i'tU~ 

"11.24 ~ 3fu: ~ sl{tI I."lil { s q;J fil~ ~ 

mcn~? 

1) fq"lI<il'1 fil~ 3fu: ~ ~ ~ CfR11 

2) tI"II<il'1 fil~ 3fu: ~ ~ ~ CfR11 

3) fq"llol'1 fil~ 3fu: ~ ~ ~ ~ 
CfR11 

4) tI"IloI'1 fil~ 3fu: ~ ~ ~ ~ • 
CfR11 

"11.25 ~<l~-m~~~~? 

"11.26 

I) -qr;ft 'Il1 ~ ~ m~ 31f~ 
II) ~ 'Il1 OOT <.fj"q 'fiVlI 

III) ~ q;J qla:nih{OI 
IV) ~ q;J -ouftmR 

1)1, IV 2)11,111 3)I,JI 4)1I,IV 

~ <l ~ 'Iffi 00'qq; ~ ? 

1) C"H" O" ~ 0.5"4ffi 
2) CO,~ 2 "4ffi 
3) CaCO) ~ 1.5 "4ffi 
4) H,o~ 5"4ffi 



Q27. Reaction between X and Y form s com­
pound Z. In this reaction X looses elec­
trons and Y gains electrons ,then which of 
the following property is generally not 
shown byZ.? 
I) Z occurs as solid 
2) Z has high melting point 
3) Z has low melting point 
4) Z conducts electricity in molten state 

Q28.Ajar is filled with t\\O 11011 mixing liquids I 
& 2 having densities d,and d, respectively. 
A solid ball made of material of density d

3 

is dropped in the jar. It comes to equilib­
rium a~ shown in fig. Which ofthe follow­
ing is true for d" d, and d

3
? 

· ....... , .. · ...... , , .. 
: : :iiRpi~ 1 : : 
: : : : : : : d; : : 
, ' , ..... , ... 
• ••••• I , I • I · ... , , .. , · . . . 

-tiglJid-2-­
===-==d,== ---------

I) d, <d, <d, 
2) d,< d,< d, 
3) d, <d, >dJ 
4) d,> d, <dJ 

Q29. Equivalent resistance across A and B is 
A 

I) 10 

2)20 

3) 30 

4)4n 

2fL 

2fL 

B 

; 

2fL 

W 2fL 
2fL 

6 

X ,4.. Y ~ ~ 3lf~ <) Z ~ 'R<IT "11.27 ~,~ 

~I ~ 3lf~ ~ WR X ~~q;;;T1 q;r 

«W] 'Ii«II ~ 3i'h: Y ~ ~ q;;;T1 'W'I 'Ii«II ~ I 
~ WIfu-G Z f.r;!-G<) <tRmTJ *1141'40: 
~~? 
1) ZdI*1IQf"(f-GWiT 
2) Z q;r '1f!1i'li ~ WiT 
3) Z q;r '1f!1i'li f.It;f WiT 
4 ) ~ 31CWIT -G Z ~ q;r «"'If! 'Ii ~ 

"11.28 ~ ~ iil: fi:!f-!il(f ~ <m'I~. ~ 

~"ifilro: d,Ci d, t <) 'R1s311~ I d3~ 
~ om ~~ <) <AT -rt<; "<til titt - titt ~ 
~ -G 6<I1U ;;mrr ~ I ~ ~ ~ -rt<; "<til 

*11"'1IQf?ll"<til ~ Wt ~ I d,.d, Ci d
3 
~ ~ 

f.It;f -G <) <tR m ~ m;H ? 

· ..... , ... . · ........ , . 
···~··'.il·· : : :.a.;.,iJlJl'~ , : : 
: : : : : : : (I; : : · ......... , 
• I •• I • I •••• . . .. 

1) d, <d, <d3 

2) d,< dJ< d, 
3) d,<d,>d3 

4) d,> d, <dJ 

"11.29 A q B ~ ~ m-ull WO q;'t I 
A 

1) In 
2) 2n 2fL 2 .. fL .. 
3) 30 
4) 4n 

~ 2fL 2fL 

B 

2f'\... 



Q30. A Potential difference will be induced 
between the ends of the conductor", hen 
conductor moves along 

" <­
L 

I) along P 
2) along Q 
3)alongZ 
4)alongM 

, \J.. 10 plane or Pup..'fl 

p 

Q31. Which of the following options is correct 
for object having a straight line motion 
represented by the following graph? 

t 

o s 

I) The object moves with constantly increas­
ing velocity from 0 to A. Then it moves 
with constant velocity. 

2) Velocity of the object increases uniformly. 
3) Average Velocity is Zero. 
4) The Graph shown is impossible. 

7 

lJ.30 ~oq l "'1<1i <); flfi<I <R'l'> 'fffi 'R 1'm.,'Il <); 

fuii <); <ifoq f<f~ ~ ~ ? 

l. tJ. to plane: or paper, 

p 

1) P ~ <R'l'> 

2) Q ~ <R'l'> 

3) Z ~ <R'l'> 

4) M ~ <R'l'> 

lJ.31 <fR W<T lfllI mq:; <mr ~ "12< 'R '1ftr<:!r;j 

~ ~ Tfft! q;) fimo 'IiH~ 't <it ~ ~ 
fq'll("<i' j -q -R ~--m 'Ii'R ~ t? 

t 

o s 

1) O-RAO<f;~f.mR~s{WI-R 
'ffi<it't o(q¥i\1d ~"WlR ~ -R 'ffi<it 't I 

2) ~ ~ <P'IR WI -R "ffi <it 't I 
3) .offi:rn Tfft! ~ t I 

4) W<T lfllI mq:; 3'ffi'fq t I 

, 



Q32. When forces F" F,. ", arc acting on a par­
ticle of mass' m' such that when F, and F J 

are mutually perpendicular then particle 
remains stationary. IfF, is now removed. 
acceleration of the particle is 

I) F/m 2) Fl,lmF, 

3) Fl,lm 4) F/m 
Q33. A ray oflight travels from a light source S 

to an observer after reflection from a plane 
mirror.lfsource rotatcs in clock wise di­
rection by 10°, by what angle and in what 
direction mirror must be rotated 50 that light 
still strikes the observer? 

I) 5° clock wise 

2) 5° anti clock wise 

3) 10° clock wise 

4) I ()C) anti clock wise 

Q34. The speed ofa wave ina medium is760nvs. 
1f3600 waves are passing through a point 
in the medium in 2 minutes then its wave­
length i~ 
I) 13.8 m 
2)41.5 m 
3) 25.3 m 
4) 57.2 m 

"11.32 m ~ ~ m 'R <iR <ffi F" F, q F, 
~tl"ilW "WI W ~ f<f> ~ F ,q F \ 3lm! ii 
~ h) m~ ~:q Wil1 h'1'f<; 

~, qi)~m~ill~'liT«RUT~m? 

1) F/ m 2)F,F/ mF, 
3) Fl,lm 4) F,I m 

"11.33 V<lim tolrn -# ~ ~ V<lim f<fi\uT tp::f(ffi 

~ 'R ~ ~ om:: ~ ~ '14c)8J'Ii 

qft 31fui't <I'll ~ h<lf~ V<lim tolrn I 0 
-# ~~ ~ -;;mn t ill ~ qi) ~ 
~ ii q ~ <iiTuT -# ww:rr ~ ~ 
<rrfq; ~ ~ q(lqfJd m i'fi\ 'Tl: 
~~ qft 31'fuii <I'll ~ ? . 
1) y~~ 

2 ) 5 ° CfTIl1CI<f 
3) I 0° ~~-fUTlC«i 
4 ) I 0 ° CfTIl1CI<f 

"11.34 ~ m filim lll'tZl11 ii 760 m/s qft llft! fl 
~~IdH I 7ifu: 2 fiRe ii filim ~ -# 3600 

<WI ~ mill ~tnrol 'lit <WT ~ ~ -?rft ? 
1) 13.8m 
2) 41.5 m 
3) 25.3m 
4) 57.2 m 

Q35. A mass of! kg is thrown \ crtically up with "11.35 

a velocity of I OOmJs. A licr 5 seconds it c,,­

plodes into two parts. One part of mass 

1 f<f>.m. ~ qft ~ qi) 100 -.ft.~ 

qft llft! -# ~m ~ ii o;<T( qft 3ffi ~ 
-;;mn tiS ~ ~ om:: "<!Q ~ <;l W ,. 
fqW>lfcd Q't ;;mit t I ~ m=m, ~ 
~ 400g t 25m/s ~ <h -# ~ q;'j 
3ffi 3lTil1 h'i~m ~ 'liT <h ~ ~ ii 
qfiw-rrm? 

400g comes down with a \ clocity of 

25m/s, velocity of the other part is 

(Take g= I Om/s') 

1)40m/s t 
2) 40111/s,j.. 

(g=IOmJs') 

1) 40 m/s t 
2) 40 m/s,j.. 

3) I 00111/5 t 3) 100m/s t 
4) 60mJs - 4) 60 m/s t 

8 



Q36. Knowing thut mass orthe moon is M/81, '11,36 

find distance ora point from moon where 

gravitational licld due to earth and moon 

cancel each other. Given that 

distance bct ween earth and 11100n ; 60 R, 

Radius of Earth ; R. Mass orEarth;M 

I) 2 R 

3) 6 R 

2) 4 R 

4) 8 R 

~ ~ S;0!l'l11 M/81 ~ or ~ -a ~ 
~ <m ~ ~ qf{'h<11 "lit, ~ 't~ q 

~~ !!~(ql'hqol ~~q;)f.m<l ~ 
~1W:!T~t 
~ q 't~ ~ ~ <m ~ ; 60 R 
't~<m~ ; R 
't~ ~ "i;O!l11R ; M 
1) 2R 
3) 6 R 

2)4 R 
4) 8 R 

Q37. In the circuit shown, \alu~ofcurrent '1 ' in 

ampercis 

'11.37 f~~~-qftq~ij~mu '1'~1lR~ 
ij ~ "lit I 

4v 
1.6..n. 

I) I A 

3) 0.4A 

2) 0.60A 

4) 1.5 i\ 

Q38. Ifan observer b moving with respect to a 

stat ionary electron then he obser\'cs 

I) Only magnetidield 

2) Only electric ficld 

3) Both electric amll11agnelic field 

4) nonc 
Q39 Identify the correCI slalement 

I) t=Rl2 for both k,,, anu spherical mir 
ror in general 

2) t=Rl2 for on I) spherical mirror and 
not forlens in g~neral 

3) focal length of pi lint! mirror;() 

4) whcnaconvex k'hoffocallenglh 10 
CI11 is placed in contact with concave 
lens of focal length 5cm,thc ne\\ lOcal 
length of combination is 5cm 

'11.38 

'11.39 

9 

4..n. 

4..n. 

4v 1.6..n. 

1) I A 

3) O.4A 

2) O.60A 

4) 1.5 A 

<lR ~ ~8;l<I) ~ W.n: ~~i.lij1 ~ <!NI!J 
'lfu -q ~ or ~ ~ f.!t;{ -q -a ~ 31:!'fCI 
'fitTn ? 
1) ~ ~'4'hlll ~ 
2) ~~~ 
3) ijkl'hlll ~q~ ~~ 
4) ~-q-a~~ 

~ ~ ~ "«II wmt 
1) 'rrffi,p:qup, $ ~ ~ fu1:( f ; Rl2 

m-<n~ I 
2) ~ ~ ~ fu1:( f ; Rl2 m-<n ~ I 
3) ~~<m~~~it<it% I 
4) ;;r<I ~ ~ c"ffi, f;m<f,'t ~ ~ 

10cl11 ~ q;) ~ Scm cOO ~ ~ ~ 
c"ffi ~ -.n~ WI ~ ~ or ~ ..re <m 

~ ~ Scm m-.rr I 

• 



Q40. A Diwal i rocket is ejecting 0.05 Kg of gases '\1.40 

per second at a velocity of 400m/s. What 

lZ'fi ~ ~ 0.05 f<I>.m '11ft! ~ q,l 

'~n)iffi f1tif>if@ 'l>{wr~ 3fu:iffi 400m/s 

~$i~~U;HI~'RW1W~ 
<f;l q R<h <:-11 q:;'f I is the accelerating force on the rocket? 

I) 20 dyne 

2) 20 Kg wt 

3) 20 gwt 

4)20 Newton 

Q41. 8.31 + 0.6 + 0.002 is equal to 

I) 8.912 

2) 8.9 12 

3) 8.979 

4) 8.979 

Q42. Ifp, q, r are the roots of the equation x3 + 

5x' - 16x + 48 = 0 then valu~ of the 

expression p(qr + q + r)+qr is 

I) 43 • 

2) -32 

3) ·64 
4) 32 

Q43. Iftrx) = 2x+ I then number of real values 

of x for which three unequal functions 

trx), f{2x), f{4x) are in GP. 

I) 0 

2) I 

3) 2 

4) 3 
, , 

Q44. The equation x - -~- = I - --- has 
x - I x - I 

I) no roots 

2) one root 
3) two equal roots 

4) infinite roots 

1) 20 dyne 

2) 20Kgwt 

3) 20gwt 

4) 20 N 

'\1.41 8.31 + 0.6 + 0.002 ~ <m<R ~ 
1) 8.912 

2) 8.912 

3) 8.979 

4) 8.979 

'\1.42 '11'R p, q, r fl41<h{OI x3 + 5x' - 16x + 48 = 

o ~ ~ ~ <11 p(qr + q + r) + qr <f;llJR ~ 
1) 43 

2) ·32 
3) -64 

4) 32 

'\1.43 '11'R trx) = 2x + I <11 x ~ ql«lfq<h ~ q,l 

ti&n 'I'lT mm. ~~ <fA 3ffi'IR 1:f;<'R 

trx), f(2x), tr 4x) ""1if4<fl11 ~ if mit? 
1) 0 

2) 

3) 2 

4) 3 

'11.44 fl41<h{OI x __ 2_ = I __ 2_ <f;l 
x - I x - I 

1 ) ~ ~ "ffi'f ~ 
2) lZ'fi~m 
3) c:T 'fIlJR ~ WI 
4) :mi&:! ~ WI 

10 



Q45. If x is real then which equation is not "lI.45 <IR <it >rt t141<6{OI if x cMdfq<6 -ms.rr t 
possible? <iT f.rJ:;l if ~ 'I>'t.! <IT t141<6{OI ~'lC! -,m t ? 

. a I I) sin = x +-
x 

, I 
2) sin a= x "7 

3 . a I ) sm = x--
x 

I 
4) tana= x+­

x 

Q.46 sec' a - tan' a = I is true when/for 
I) all values of a 
2) a lies in Istor IVth quadrant only 
3) not for all values ofa 
4) always,ifsin'a +cos'a = I 

10 10 

Q.47 The value of cos 15"cos 72 sin7
2 

is 

I 
I) 2 

3) 
4 

I 
2) -

8 

I 
4) 16 

Q.48 The largest common term to the sequences 
I, II, 21 , 3 I ........ I 00 terms 

3 1,36,41 , 45,46 ........ 100 terms is 

I) 381 

2) 471 

3) 281 

4) none 

Q.49 The mean of the data set comprising 16 
observations is 16. If one of the 
observations with velue 16 is deleted and 
three new observations 3, 4,5 are added, 
then the new mean is 
I) 17 
3) 14 

2) 15.8 
4) 16.8 

II 

. I 
1) sma= x+­

x 

, I 
2) sina= x"7 

. I 
3) sma= x-­

x 

I 
4) tan9 = x+­

x 

"lI.46 sec' a - tan' a = I <1<'1 t ~ 
1 ) a ~ <l'11l1T'1l ~ ~ 
2) 9~I31~IV~~ifm~ 

tl 
3) a ~ <l'11l1T'1l ~ ~ -,m 
4) *, <IR sin'a + cos'a = I 

10 10 

];1.47 cos 15"cos 7- sin7 - q;J"tfRt 
2 2 

1) 2 

3) 4 

"lI.48 <it >rt ~ if ~ ~ _ -qc; 'l'<T t ? 
1,1I,2 1,3 1 ........ IOO-qc; 

31, 36, 41, 45, 46 ........ 100-qc; 

1) 381 

2) 471 

3) 281 
4) ~-,m 

"lI.49 16 3lq<:1'Iif>.ff ~ ~ q;J l!l~ 16 t I <IR 
~ 3lq <:11 <6 '1 f;mq;j "tfR 16 t irlI q;{ <fA 
"'f1!; 31 q <:11 if> '1 3, 4, 5 "ifil ~ if SJffi ~ 
<iT 1ln l!l~ 'l'<T m ? 
1) 17 2)15.8 

3) 14 4)16.8 



Q.50 In a hostel 60,}(, or ;tudenls rcad Hindi 
newspapers, 40% read English and 20% 
read both. A student is selected at random. 
Find the probability Ihat she reads neither 

Hindi nor English newspaper. 

]l.50 f<nm iWlJi"ll« Tj 60% fcmTm fu";<ft ~ 
TI ~ t 40% ~ ~ TI (I'lli 20% 

fcmTm ~ m ~ ~ I ~ fcmTm ~ 
<l ~ ;;mn t ~Jf'l"'(11 ~"'ht f<f> ~ '1'Il 

fcmTm'f>1t .n Wil'ql( TI m ~ % ? 

I) 0 

I 
3) 

3 

I 
2) "5 

I 
4) -

2 

Q.51 A sel offarmers can comrletely harvest a ~.51 

crop in 10 days. However 12 farmers fell 

ill and now the remaining can do this job in 

15 days. Find the original no of farmers 

I) 40 farmer 

2) 36 farmer 

3) 27farmer 

4) 25 farmer 

Q.52 The angle of clt!vation of a plane from a 
~.52 

point on the ground is 60°. i\ fter 

15 seconds Ilight. the elevation change, to 

30°. I f the plane i, flying at a heighl of 

1500fj m thcn speed of the planc is 

I) 200 kmlh 

2) 720 kmlh 

3) 425 kmlh 

4) 600 kmlh 

Q.53 The cenlroid of a triangle is (2, 4) anJ ~.53 

circumcentre is (1,7) then find the 
orthocentrc 

I) 3, I 

2) 4,-2 
3) -2, .. 

4) -8, <\ 

12 

I 
1) 0 2) "5 

I 
3) 3 

I 
4) -

2 

~ 'f;l ~ ~ 10 ft-I Tj 'fifffi q;) 

~<m~%~<l <IR 12 fol;m;f 
f.!lrr< 'l6 ~ it ~ fol;m;f ~ ~ "'IiT'f q;) 

~ ft-I Tj "" ~ I ~ q;) "IIRfl:'Ijq; 
~, ~ ~ Tj q;Jl1 "" WI ?ft, ~"'ht I 
1 ) 40 fol;m;f 

2 ) 36 fol;m;f 
3) 27 fol;m;f 

4) 25 fol;m;f 

'!R~~~<l~~~'f;l~ 

q;)11f 600 % 15 ~ ~ Wi'ffi'[ ~ q;)11f 

30· m;;mn%I<IR~~ 1500..{j m. 

q,'j ~ 'f{ % it ~ TTfu <p:jI Ql1ft ? 

1) 200 f<f>.m. 1lfu ~ 

2) 720 f<f>.m. 1lfu ~ 

3) 425 f<f>.m. 1lfu ~ 

4) 600 f<f>.m. 1lfu ~ 
<IR ~ ftl';Pf 'f;l ~ (2, 4) (I'lli 

-qftf~ ( I .7) % it ~ ftl';Pf 'f;l ('fl'<I 

~"'ht I 
1) 3, I 

2) 4,-2 
3) -2,4 

4) -8,4 



Q.54 Point R (h, k) divides line segmentAB be- )1.54 
tween axes in the ratio 1:2 where A lies on 

~ R(h, K) -3l~ ~.m. ~ {&I!Ji:s AB 

'Ii't 1: 2 ~ 31J'IRI if fcf'11f;rn ~ t ~ 
A, X- 3l!!;l 'R W«! 't I 't!ID 'fiT ~T"Ii\UT ~ 

'lit I 

X - axis. Find equation oi"line. 

I) 2hx + ky = 3hk 

2) 2kx + hy = 3hk 1) 2hx + Ky = 3hK 

3) kx + hy = 2hk 2) 2hx + hy = 3hK 

4) 3Kx + hy = 2h1K 3) Kx+hy = 2hK 
4) 3Kx + hy = 2h/K 

Q.55 The ratio ofvolume ofa cube to that ofa )1.55 

sphere which exactly fits inside the cube is 

~ 'R ~ 3WliR 'fiT 31J'IRI, "3tI -.m9 ~ 
3WliR if;- m~ f<f;o;n m ~r <R if ~ 
wn~ ? I) 1[:6 2)1[:12 

3) 12: 1[ 4) 6 : 1[ 

Q.56 In the figure below, areaoftrianglc L'.OAB 
is 72 sq. units and area of triangle L'.ODC 
is 288 sq. units. Then length orBC and AD 
are 

o 

I) BC = 15 AD = 16 

2) BC = 22 I\D = 12 

3) BC = 18 AD = 16 

4) BC = 20 AD = 14 

.57 What is the Icngthof the longest rod which 
can be placed in a cube of total surface 
area of216 cm'? 

I) Ji8cm 

3) 6../2 em 

2) 6../3 cm 

4) )../6cm 

13 

1) 1[:6 2)1[: 12 

3) 12:1[ 4) 6: 1[ 

)1.56 <:t ~ ~ if L'.OAB 'fiT ~ 72 cfIf 
~<I"<T L'.ODC'fiT ~ 288 cfIf~ 
% I ~ q;'{ f<f; B C <I"<T AD q;j ~ <I'll 

mm? 

16 

0 
18 

1) BC = 15 AD = 16 

2) BC = 22 AD = 12 

3) BC = 18 )\D = 16 

4) BC = 20 AD= 14 

)1.57 WI{"! ~ ~ 216 cm' qffi <R if 
~ WIffl..I'Il ~ 'Iii ~ wn ~ % ? 
1) .Ji8 em 2) 6../3 em 

3) 6.[i em 4l3../6 cm 



Q. 51! In the adjoining figure 0 is the centre of the 
circle with radius r 
AB, CD and EF are the diameters of the 
circle. LOAF = LOCB = 600 

What is the area of the shaded region? 

A r-----¥---~B 

I) r; (. _ 3~) 

3) r:(._2f) 

r'( 3.J3) 2) T • - -4-

4) data insufficient 

Q.59 Inthefigure belowMBC isarightanglcd 
triangle, tJ.BDC is an equilateral triangle. E 
& F are the midpoints of AC and BD re­
spectively. then x =? 

B 

/\ C 

D 

a 
I) 

2 
2) a 

2 2 
3) 4) -

a 3a 

"SI.s8 <ffir.! ~ if ~ r (I~ ~ 0 cm'l 
'¥ if AB, CD (I~ EF, '¥ ~ CXlm ~ I 
LOAF = LOCB =600 

014if'fld 'fill "'fll ~ ~ ~ I 

1) r: (n- 3~) 

3) r; (~_ 2~) 
"SI.s9 f.!t;j ~ if tJ.ABC ~ 1i14ifl'I OI fti'P ~ 

(I~ tJ.BDC ~ ~ fti'P ~ I <iR E (leu 
r"Sfi"lrn: AC (I~ B D ~"4~ f~'{h1x = . 

1\ 

/\ C 

a 

D 

a 
1 ) 

2 
2) a 

2 2 
3) 4) -

a 3a 
14 

• 



Q.60 PQ is a chord oflength 8cm of a circle of "11.60 

radius Scm. The tangent at P & Q 

intersect at a point T. Find the length TP. 

Scm f,t;n:n cm'l 'f'l" if 8cm ~ 'li't ;;ftqJ 

PQ <:t ~ t" I P <1m Q .,m ~3lf <l men 
s{ .,m tw't ~ T'1l: ~f<t"g< q;«it % I 
TP'li't~~~1 

10 
I) -:;- cm 

.> 

20 
2) .3cm 

3) 10 cm 

40 
4) - cm 

3 

Q61. The presidentofiNC at the time of 

partition oflndia was 

I) C. Rajagopalachari 

2) J.B Kriplani 

3) Jawahar Lal Nehru 

4) Mahatma Gandhi 

Q62. Leader of Bardo Ii Satyagrah 1928 was 

I) Vinoba Bhave 

2) Sardar Patel 

3) M.K Gandhi 

4) Jawahar Lal Nehru 

1) 
10 
-cm 
3 

2) 
20 
-cm 
3 

3) 10 cm 

40 
4) - cm 

3 
"11.61 "'IlUI-"'lT'Ii ~~ <f; ~ 'lJ«itq ~ 

<i>Jm:l <f; 3{t2i1\! <m ~ ? 
1) m. (I",,~qlt1Ii1l<.l 
2) ~. <it. 't'Qt1I11 

3) ~"ffit1m 

4) ~'lim 

"11.62 ~ (1<"'1Illl\ 1928 ~ ~ fifiWI ~ 
m? 
1) fcRTi!r ~ 
2) ~~ 

3) ~'lim 
4) ~"ffit1m 

Q63. Arrange the following events of French "11.63 "SIffi:I 'li't Sf;"fRr <f; 'R~ if f1"1f~f(Sid 'li't 

Revolution in a chronological sequence 

I) Louis XVI is guillotined 

II) The Oath of the Tennis court 

Ill) The Bastile fall 

IV) French republic is declared 

V) The great tear 

1) II, III, V, IV, I 

2) I, III, IV, V, II 

3) III, II, IV, V, I 

4) Ill , II, I, IV, V 

15 

Ei2:'ll11i'iljM ~ ~ I 

I) $ 16 ~ ~ fiR 'IiWl ~ "lJGIT 

II) Zf.m 'li1i 'li't W'lt! 

III) ~ 'li'tl-lffil ~ ~ 

IV) "SIffi:IlJURf;f 'li't ~ 
V) <:; 1R flI;<R 

1) II, III, V, IV, I 

2) I, III, IV, V, II 

3) III, II, IV, V, I 

4) III, II , I, IV, V 



Q64. Identi fy the incorrect statement ".64 l1ffiI ~ ~ ~ q;'{ ! 

I) Pro Tsarist were also called 'greens' 1) "IR <1'l~ ~ • *' ' . .n ~ "lTOI ~ ! 

2) The secret police in Russia later on 2) ~~~~~om::ii'~~ 

came to be known as N K V D 
<ft m' ~ ~ 1J1<\! 

3) Com intern was fourded by Bolsh::viks 
3) Q'!(1ilfqihl !;lU ihWFd 'f;l1JO'! ~ 

Tf'IT ! 
4) Tsar Nicholas-II 's empire included 

4) ~ "IR f1ihl(1l;i -II ~ ~ 'f;l 
Armenia ~~! 

Q65 . Huyn Phu So found.:d ".65 i'fm~~~~1JO'!~~ ? 
I) Vlelminh 1) fqljof'l'1 

2) Hoa Hao movement 2) m3lTm6l't~ 

3) Indo Chinese Communist Party 3) ~ <iR ih'1f1R '1Tif 
4) NLF 4) ~.~. ~. 

Q66. The congress held after defeat ofNalxllean " .66 ~<fIf<'llj'1~~m<~~~q2{f1ih 

~ 3l~8J(Il ii ~ ~ U"1I ~ :>Mlf"1o ~ 
Bonaparte headed by Duke Mettcrnich 

~m? 
was held at 1) ~ 
I) Britain 2) ~ 
I) Russia 3) ~ 

3) Austria 4) ~ 
4) Germany 

"I2'11!M!j@ utt ilil1 ii wm!! ".67 
Q67. Give correct sequence I) ~ 'f;l ~ q*'f '1Tif 'f;l ~ 

I) Hitler joined German worker\ Party 'ffIT 

II) Passing of the Enabling Act II) f<ffitrrflf'liT{ 3lf~ 'f;l -qfu- m:n 
III) Signing of Tripartite PACT III) fu'lf~ 'lft.! 'R ~W 

I V) Onset of great Economic depression IV) 3lf$o ~ ~ ~amJ 
I) ILlV.1.1I1 I) 1I,IV ,LlIl 
2) 1,IV.lILII 2) LlV.I ILl I 
3) 1,IV.lLlIl 3) 1,IV.lLlIl 
4) IV,LlLlIl 4) IV,I,II.l1I 

Q68. ' Hind Swaraj' was written by ".68 'fR~'% ~<t>'R ~? 

I) Jawahar Lal Nehru 1) "fCII\?{ ~F! ~ 

2) BalgangadharTilak 2) '!R'I *n • .p; ftrfrq; 

3) Sardar Patel 3) "ffiGR 'm1 
~ -

4) Mahatma Gandhi 
4) ~TfI' rr 

16 
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Q69. Which of the following decision was taken 

by the Indian Forest Act 1878? 

I) All forests were to be brought under the 

control of Forest Department 

2) Forests were to be divided into three cat­

egories 

3) Forests were to be cleared for cull iva­

tion 

4) People's entry to all types ol"lorest was 

to be restricted 

"11.69 'Iffi(f CR 3lf~, 1878 ct 3Mf1fo 
f1'""1f<i1f{1l(1 ~ ~ 'I>"R-~ f.!ur:r 1Wl: rro: ~ ? 
1 ) <l~ q;fj q,l CR ffl"WT ct 3RfTfo (';r:!T 

~ 

2) q.ff q,l (fR ~ ~ ffl~ fo!;<n 

~ 

3) q;fj q,l mrr ct 1Wl: mq; fi:Ii<n ~ 
4) ~ <m t- q;fj ~ ffi"rTI t- 31A ~ 'R 

U'f>wnt~ 

Q70. Mugal Dynasty was to Bahadurshah Jaffar "11.70 ~ ~ q:;J";;it fu<1T (<i<ill') "TR" ~ 
-B I'll, em fu<1T mm ~ q:;J f<Ii<:! -B I'll ? 
1) 'n; <.11<.1 mm 2) ~ mm 

as Lod i Dynasty was to 

I) Bahlol Lodi 2) Ibrahim Lodi 
3) ~ mm 4) ~ <9R mm 

3) Sikander Lodi 4) Daulat Khan Lodi 

Q71. IdentifY the correct statement "11.71 f.!l1 ~ -B -m't q;~ q:;J "I1R q;'{ 1 

I) Meyeli is a language associated with 

women speech in Gujrati Novels 

II) Mohammad Basheer wrote mainly in 

Telgu 

III) Naval Kishor Press was established in 

Allahabad 

I V) Bombay Samachar was a Gujrati News­

paper 
1) I,ll 2)11, III 3)111 4)IV 

Q72. The most effective contribution made by 

Dadabhai Naoroji to the cause 01" Indian "11.72 

national movment was that 

I) He exposed the economic exploitation of 

India by the British. 

II) Interpreted the ancient Indian texts and re­

stored the selfconfidence oflndians. 

III) Stressed the need for eradication of a II the 

social evils before anything else. 

1) I,ll 2)1 3)11 4) III 

17 

I) '~'~3q'4I\1'i~~aiiqft 

'-4'I<.1oql~ -B tr.ifll'<1 'WfT ~ 1 

II) 'ill; "'i<; ..rnR ~: ~ ~ fu<gij 

~ 

III) "'I'ffi ~ RI ~<.1IWll<; ~ ~ 
tit 

I V) • ~ <i'11 oq 1 {' 1l:'Il ~ tfIlT'iffi "Y'l 

I'll 

1) I,ll 2)11, III 3)111 4) IV 

~~'~~ .d~ , ~''''<:11 ~ "1', i;T<T 

t!<ffi "II'Uq ~II Ml ~ f.!l1 ~ -B <FIT I'll ? 
I) firtm i;T<T ~ ~ anf?jq; "$!ui 

q:;J ~ fi:Ii<n 1 

II) ~ ~ "lim qft am<m qft 3ih: 
~ t- 3l1('4fq~ql<i <it <!tm1 ~ 1 

III) ~ 3ih: m ~ ...re <l-n <i1'1lf"1'" 

~ ~ ~ qft 3llq~lf"'<11 ~ 

1) I,ll 2)1 3)11 4) III 



Q73. Headquarters of SA ARC are situated in 

I) Kabul 

2) Colombo 

3) Dhaka 

4) Kathmandu 

Q74. Who signs the one rupee note in India? 

I) Governor of RBI 

2) f'inancc Ministerof India 

3) Finance Secretary of India 

4) President of India 

"\1. 73 ~ 'fiT ~@1(111 ~~ ~? 

1) ~ 

2) q,'I<'1<41 

3) ~ 

4) 'l>laqi1. 

"\1.74 "lWI * "ll:'t> ~ * -;jtc: '" ~ Q«lII\R 
~t? 

1) RI3I * 1Jlf.n: 
2) "lWI * fqu1j?il 

3) "lWI * fqu~f",q 
4) 'lffi(I * ~ 

Q75. Which of the following is an example of "\1.75 

working capital? 
~ it 'lit.!- m 'l>14~il<'1 ioit 'fiT 3",16{O1 

~? 
I) Tools 

2) Machines 

3) Raw material 

4) Building 

Q76. NP-NSPE programme is basically 

I) Mission launched by Ministry of Rural 

Development 

2) Mid day meal scheme 

3) Unemployment based programme 

4) A Nationalised bank 

Q77. Underemployment occurs when 

I) People do not want to work 

2) Are not paid for their work 

3) Are not skilled 

4) Are working less than they are 

capable of 
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1) ~ 

2 ) l1lIrif.i 
3) ~'lR'I 

4) 'l1CA 

"\1.76 f1"1f<.1f{Sld if it 'NP-NSPE' 'l>14S1>Q "'" 

~? 
1) "llT'ftuI fcf<t>m ~ mT ~ ~ lTll1 

flm;j 

2) l1U!R;" ~ ~ 

3 ) ~ ~ "1' II (I 31JmfuI "''I>:ri14f..SI>ccQ 

4) ~"fO~ 

"\1.77 3W'1 ~~"1'IIi1 "'t><!Qti\~? 

1) ~ ffirr 'flIl1 '1"QT 'R'lI ~ % 1 

2 ) ~"d"'l'fi 'flIl1 * ~ 'j'R!R '1"QT ~ 
""1T<lT ~ 1 

3) ~ ffirr 'l>14'i'~R1 '1"QT ~ t 1 

4 ) ~ ffirT 3N-ft e.fI'Id1 it 't>l1 'flIll 'Ii1: W 
mHI 



Q78. A country has l(lUr groups of people. The "11.78 

table below sholl S some social indicators 

of their groups. Id.:nti fy the group that is 

the most vulnerable 

Group Literacy Life Unemployment ~ 
Rate Expectancy rate % 

(in Years) 
A 

A 70 80 5 
B 90 82 10 B 
C 60 75 15 C 
D 62 76 10 

D 
1) A 2)B 3) C 4)0 

Q79. In a village Bhambla, 100 familicsare liv- "11.79 

ing Forty five lamilies work on their own 

piece ofland. twenty families are involved 

in dairy farming and 35 families v,ork in a 

nearby factory to carn their livelihood. 

What percentage ofBhambla village 

depends on the secondary sector? 

I) 45 

2) 55 

3) 35 

4) 20 

~ ~ ii mm ~ Tffi ~ t I f1"1f<.1f@d 
~ ~ WIP ~ ~ ~141f"li'fi ~·~d,.,'i 

q;J fcffltur ~ % I wm~ 31wf&!<l ~ 
<it~~1 

"I!T!\ffiIT <:\ -;:;i\<R l11<lm ;qn;zPiin 
wiN ~<:\ 

70 80 5 

90 82 10 

60 75 15 

62 76 10 

1) A 2) B 3)C 4)0 

'li<I~!J1jfq ij m 'lftcm: wit t I tTd 1f<.1 ~ 1lftcm: 
311l'it m <it "lPl 'l< W<iT ~ t I <im 
'lftcm: ~"l ~ ~ OlIq~14 ~ am: ff<irn 
'lftcm: f.r<R <it m ~ ~ ii <wi ~ 

"lloil fqi'fil ~ t I ~ ll'fq ~ f<Ii<A 
"lIftrno "ffiTJ fliol4i'fi !$I 'l< f.i-h: ~ t? 
I) 45 

2) 55 

3) 35 

4) 20 

Q80. IdentifY incorrect stastmentlstastments "11.80 T[ffi[ <m'l~ <it ~ 
I) Printing too much money leads to 

infaltion. 

II ) Before 20 13 Gov!. oflndia used to 

issue only two types of Ration cards, 
APL& BPL. 

III) India has mixed economy and USA has 
Socialist economy. 

IV) Its is worthwhile to move to Consumer 
Court only if the damges incurred arc of 

highy value. 

1)1,11,111 2)1I,11I,IV 3)1,11I,IV 4)1I,IV 

19 

I) ~~ ~ q;J ~ 'ji;Iw>lfd <it am: 
-R omrr % 

II) 2013 ~ ~ '1m! m<fiR ~ G1 m 
~mR<nrtorrUq;«it~, APLam: BPL 

III) ~ 3l~ fllflJ!<! % am: 

~ "l~ ~41"'1qlt;131~ 

%1 
IV) TI~ aroffiI ii ~ (f\ft tIT$!; % 

"1"<1 ~ ~ 3lf~ m I 
1)1,11,111 2) 1I,1I1,IV 3)1.I11,IV 4)1I,IV 



Q81. Prime Ministeroflndia has to be a m<.:m­

berof 

I) Lok Sabha 

2) Rajya Sabha 

3) Either Lok Sabha or Rajya Sabha 

4) Can be a member ofRajya Sabha but 

he/she has to get elected to Lok Sabha 

witl1in six months 

Q82. What colours are present in the state flag 

ofJ&K? 

I) Green and White 

2) Red and White 

3) Only Red 

4) Green and R<:d 

"11.81 ''lffiI ~"II~ 'lil ~ it ~ <ro"I 

rr.n~? 
1) ~"B"lT 
2) ~"B"lT 

3) ~"B"lT 'II ~"lT 

4) ~"B"lT 'I>T <ro"I m ~ ~: ~ 'lil 
31'lf1c:j -q ~ "B"lT ~ <ro"I ~ ~ -q 
Wlq;(3Wflm 

"11.82 ~~~~~~ii~:m 
it~'t t 
1) ~~~ 
2) ~~~ 
3) ~~ 

4) ~~~ 

Q83. Which of the follo\\ ing high court is n!centiy "11.83 

fonned? 

f.p:;j ii it <IiR -m ~ .,~ t III M II t:TM m ii 
ORTt? 
1) ,l<\{i(!jos ~ '4111IMll 

I) Uttrakhand High Court 
2) 3'O1~'1~ ~ '4111IMll 

2) Chhaltisgarh High COUlt 3) ~ ~ '4111IMll 

3) Tripura High Court 4) f~f<¥hq ~ '4111IMll 

4) Sikkim High court 

Q84. There is no provision in the constitution for "11.84 

the impeachment of 

~ it ~ 'R ~'1ll'M ~ orR 'I>T 

mq~ <ifcf~ ii "!\ff t ? 
1) ~ '41111 M II ~ lJ&! "4IllTtfm I) Chief Justice oflndia/Supreme Court 

~) Chief Justice of High Court 

3) Governor of State 

4) Vice-Presidentoflndia 

Q85. A Panchayat Samiti at the block level is 

I) An Advisory body 

2) An Administrative authority 

3) A Consultant committee 

4) A SU)J<!rvisory authority 

2) ~ '4111IM II ~ lJ&! "4IllTtfm 
3 ) 'IfffiI ~ fipft \ft ~ ~ (I"ll q 1M 

4) 'IfffiI ~ oq-~ 

"11.85 ~ ~ ~"ffil:Jfu ~ ~ -q 
~? 
1) ~<.'1I~<liI( f.!q;p:j 
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2) ~~II~f'1<1i >nf~ 

3 ) A M I ~ <Ii j( 'IDl:!fu 
4) ~~>nf~ 



Q86. Which of" the following statements 
is/are correct? 
I) There an; eleven fundamental duties laid 

down in the constitution oflndia for 
ever) citizen oflndia 

II)There is no provision in the constitution 
oflndia for direct enforcement orthe 
fundamcntal duties 

III) No ncgative amendment can be done 
in thc Ililldamental right,. 

IV ) On~ of thc fundamcntal dutic, or 
C\ er~ citi/CIl of I ndia is to cast his/her 
vote in general or state election so as 
to maintain vibrant dCl110cracy in 
India. 
1) LlI.IY 
2) II.III,IV 
3) LlI,1I1 

4) 1.111 

Q87. Minil11ul11 no. of members rcyuired to hold 

a mceting 01"1 ,ok Sabha is 

I) At least 100 l11el11bers 

2) At least one fourth oftolal members 

3) At least 1110 of total members 

4) Any no. of mel11bers provided the 

prime minister is present 

Q88. What is the criterion lor a political party to 

be recognized as National Party? 
I) In a general election ofLok Sabha or 

Legislative Asscl11bly the party ~lIs 
6% of votes in four states and in addi 
tion. it wins four Lok Sabha seats. 

2) Thc party wins at least six Lok Sabha 
seats 

3) Thc party polls 12% votes in a 

general Election to loksabha 

4) Thc party wins at least 12 Lok Sabha 

scal~. 
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"11.86 f¥I 'fi?R q;) ~ ~ ~-m 'fi?R 

.m%? 
I) "'Il\il ~ ~'<R if 11'IR",'j ~ ~ 11 

~ ~ f.!mftI ~ ll1.!: f I 

II) ~~~~~qrr~ 
VICI'<R ~'<R if ~ ~ "TJ1n % I 

III) ~ an~ if ~ >it 1ifil(lc4ifi 

mil~ ~ ~ on "Wml"ll 

I V) '!f{(l ~ ~ "1JT1"ft:<F. 'liT 7.f"" 'fT ~ 
~ t f<f; '!f{(l ii ~ <:".[r"'(1',! 

'f'IT"il 00 ~ ~ 3lr4 ~ <rr ~ 
~ T.(11CI'i if --'" ~ ~ <t>( I 

1) I,II,IV 

2) 1I,IILlY 

3) 1,11 ,111 

4) 1,111 

~.87 ffi<f; <l\ff "<t>l ~ ~ fu~ ~ m::Bii"<t>l 
~~t? 
1) ~ it "ifi"4 100 m::Bii "<t>l 
2 ) "ifi"4 it "ifi"4 "ll:'I' ~~ ~ "<t>l 
3) "ifi"4 it "ifi"4 1/1 0 ~ "<t>l 
4) ~ >it ~ m ~ %"lffi:: "II~ 
~ml 

"11.88 "ll:'I' <I',l1lfdifi ~ q;) ~ -qTif ~ ~ if 
l!T"l«IT '1T'<I ~ ~ ~ f¥I if it ~ 
4IQ<;Oog q;)"'PI ~ m %? 
1) -qTif i:RI "ITnl'i<iT it" ¥' "4""ffi qrr 6% 

~\ff <rr fcl~\ff ~ ~ if '1T'<I 

~ (lilT 4 ~\ff mil 'R ofuRT 
2 ) -qTif i:RI "ifi"4 it "ifi"4 ~: ~\ff 'f>1 

mii 'R ~ <rr 'flT 0fl'IT I 

3) 'l1i\ i:RI ~\ff ~ 3lr4 ~ if ¥' 
"4""ffi qrr 12% 11<1 mftffi ~ I 

4) 'l1i\ i:RI "ifi"4 it "ifi"4 12 ffi<f; <l\ff mil 
'R ~ <rr 'flT 0fl'IT I 



V8,). Inelian stat~ and country with largest coast 

line n:spectively 

I) Andhra Pradesh, Canada 

2) Gujrat, U.S.A 

3) Gujrat, Canada 

4) Andhra Pradesh, Australia 

Q90. Bamboo and Teak trees are generally found 

in \0\ h ieh type of forest? 

I) Alpine 

2) Mediterrian 

3) Tropical 

4) Mountain Forest 

Q91. Which ofthe following oilseeds in India is 

grown in both Rabi and Kharifseason? 

I) Ground Nut 

2) Coconut 

3) Caster secd 

"11.89 'lffiit"q"l!Rl q ~ 'liT ~ ~ ~.".m 
w<it (g WI 'g-
1) 31Rl~,~ 

2) TfU<\, ~ \Fi<1 ~ 
3) TfU<\, ~ 
4) 31Rl~, 3im:T~:Hfc""fl7T1'l1 

"11.90 affi! ~ m>1CfR ~ ~a;T~: ~ <'t f<f>tI 
"II'IiR ~ cRf .q ~ ~ % ? 
1) ~CR 

2 ) 'i'!~ <rfTlit<! CR 

3) 6"'1 ~ .. Wl CR 

4) ~CR 

"11.91 q;R-m ~ 1f;WI'lT«!.q \oft am \9Uq;­

GAT ~3i1.q ~ ~ 'g- ? 
1) {'I'hctl 

2) ~ 

3) ~ 

4) tmi'f 

4) Mustard seed "11.92 ~: 82<1{2 ~ 6"'1 ~ !$IT ii 
~ ~ CIR'it ~ fllit 'g- am ~ 31Tlf{'! 

<iiT<mI{:S q QX'1fqf1'l4 ~ ~ ilgdl'lct ii 
~~nHI 

Q92. Assertion (A): Laterite the typical soil of 

tropical region is rich in oxidcsoriron and 

aluminium compounds 
Reason (R): Heavy rainrall promotes 

leaching oflime and Silica wnten!. 

I) Both A & R are correct & R is 
explanation of A 

2) Both A & R are correct but R is not 

explanation of A 

3) Only R is correct but A is incorrect 

4) Only A is correct but R is incorrect 

Q93 . Minerals that I ic near the surface are sim- "11.93 

ply dug out by the process known as 

I) Mining 

2) Shafts 

3) Drilling 

4) Quarrying 
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'I'f{Ul: 'lrd qqf, ~ q ftifWll1 ~ 3Wlf~ 

RI!JR'R 'liT 'I'f{Ul 'g- I 

1) q;2R am 'I'f{Ul GAT <f("l % om 'I'f{Ul, 

q;2R 'fit ~ 0lil19'n 'g- I 

2 ) q;2R am 'I'f{Ul GAT <f("l % ~ 'I'f{Ul, 

q;2R 'fit ~ 0lil19'n ~ 'g- I 

3) 'I'f{Ul <f("l t ~, ~ 'g- I 

4 ) ~ <f("l 'g- 'I'f{Ul ~ 'g- I 

~~~~~qffi~q;1 

~ f1"'R'I~ ~ full: ~ ~ CIR'it ~ 
'fit 'l'<l ~ t ? 
1) ~ 

2) Ww: 
3) ~ 
4) dd!l11 



Q94. Which is the largest inhabited ri\crine 

island of the world? 

>I. 94 ~ 'liT t!iril ~ 311<'ftfuo ~ m <m­
mt? 

I) Dihang 

2) Majuli island 

3) Moore island 

4) Teesta 

Q95. Which is the Shortest national highway >1.95 

among the following? 

I) NH 55--- Siliguri --- Darjeeling 

2) NH 35--- Barasat --- Bangaoll 

3) NH41 --- Kolaghat--Haldia 

4) NH 31 A --- Sivok --- Gangtok 

Q96. According to census 20 II. 010;t spoken >1.96 

language after Hindi in India is. 

I) Marathi 

2) Gujrati 

3) Punjabi 

4) Bengali 

Q97. During October, November i.e. the retreat >1.97 

time of monsoon the apparent O1oV~lllcnt 

of sun takes place towards: 

I) North 

2) South 

3) East 

4) West 

1) RWr 
2) ~ 
3) ~m 
4) <fmn 

f.rr;j if 'il t!iril ~ ~ '3'iillWf <m-m 
~? 

1) NH 55 fttf<.'11~1 <;I;,fffd'i 
2) NH 35-<mm\-if'Iliiq 

3) NH41 'h'1\'11'112~ 

4) N H 3 I A - fuq'fq;-1frT2'1q; 

2011 'fiT "11' I 0111 ~ 3"!JID< 'lffiI if ~ ~ 
<n<; tlClfrl-T<fl <!Tffi OJA CfR'it 'l11'fI f.rr;j if -H 
<m-mt? 
1)llU<ft 
2) :rm<i\ 
3) ~ 

4) <i'IR'it 
~~~~ "l~~'fiT 
"C!I"'fffi ~ WI'! 'l'f 'fiT 3lI\ffii\ Tffu ~ 
(KCp~t? 

1) '3U1: 

2) ~1\fUI 

3) 'l'f 
4) ~ 

Q98. A riverjoined by its tributaries at approxi­

mately right angles develops the path:m 

I) Dendritic 

>1.98 OfOIBl;llI'h~~~~m~B'l<hIOI 
'l1: fl:r\'1<ft ~ <IT f1 "'1f<.'1 f d ct ~ ~ 
<ff<lT t 

2) Trellis 

3) Rectangular 

4) Radial 

1) S;'lltfd'h 

2) "11<.11141 

3) "lillctl<lll{ 

4) 3Tit<i 
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Q99. The standard meridian of India does not "11.99 

pass through 

~ l!f'fifi 1I1'-liht< ~ -B ~ ~ if 
-B "ffi'f ~ ? 

I) U.P 

II) Andhra Pradesh 

III) Tamil Nadu 

I V) Uttrakhand 

I. 11&111 3.11I&IV 

2. II & IV 4. II, III & IV 

Q I 00. Which one ofthe following statements 

is NOT correct about the shaded part 011 

given outline of India? 

I) It is a mineral rich state. 

2) The famous gem Koh-i-noor was 

produced in the mines of this state 

3) The famous Tirumala Temple is 

situated in this state 

4) Two important rivers, the Godavari and 

Krishna flolV through the state 
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I) ~~ 

II) ~~ 

III) <1FIi<.111§ 

IV) 3<1(1(901; 

I. II & III 3.1I1&IV 

2. II & IV 4. II. III & IV 

"11.100 ~ lJ1l: hlIlF.q~ ij 0111iF'fid $I '1ft ~aif 
~ 3lTm\ 'R f.r8 if -B 1fffiI ~ '1ft ~ 
'fit I 

1 ) ~~~~~I 

2) ~ ~ mr 'I6i'lft ~ '1ft ~ ~ I 
3) ~ RI~'lI<.1 1 ~ <m WIo ~ I 

4) G1 ~ 1W:Ii ~ q 'fIDTT ~ ~ 
~~~I 

• 


